

1700 W. Fremont Street Stockton, CA 95203 209-948-9611 209-948-0103 Fax

January 30, 2023

City of Stockton 425 N El Dorado Street Stockton, Ca. 95203 Attn: Information Technology

Ref: One year extension of Maintenance Contract

This is a formal request to extend the Radio Maintenance contract for one year 7/1/23 - 6/30/24.

Please advise if this meets with your approval, Thank you.

Regards,

Debra Thompson

Financial Business Manager

Delta Wireless, Inc.



Service Agreement

1700 W. Fremont St.

Stockton Ca; 95203

(209) 948-9611 fax (209) 948-0103

Customer: City of Stockton

Attention: Terrell Harper

Address: 425 N El Dorado Street

City: Phone:

E-Mail:

12

Stockton

Fax:

State: CA

Zip: 95203

Payment Period: Customer PO#:

Agreement Date:

Service Agreement No:

Date Maintenance Begins:

Date Maintenance Ends:

Negotiated by:

6/30/2024

MONTHLY

S0508195

1/30/2023

7/1/2023

Debra Thompson

Annual Fee Quantity Equipment Descriptions Place of Service Per Month Annual Radio Communications & System Support Service \$42,068.40 \$504,820.80 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

TOTAL: \$504,820.80

Special Instructions

Service 7 X 24 hour for Infastructure equipment and Monday - Friday 8:00 - 5:00 subscriber service per inventory equipment list.

Contract is cancelable with 30-day written notification by either party.

\$0.00

City of Stockton Maintenance Quote Delta Warranty Plus

Qty

2023/24

Equip

	Delta PM Plus Delta Standard Ma Warranty			Annual Monthly Backbone Subscriber	\$ \$ \$	504,820.80 42,068.40 20,300.40 21,768.00
SFD	Motorola VPM	B1933	10		\$	403.20
SFD	Workstation	HP 2Z MINI	10		\$	3,528.00
SFD	Workstation	HP Z440	2		\$	312.00
SFD	Ethernet Switch-24	CLN1856	6		\$	243.20
SFD SFD	Ethernet Switch	CLN1868A	3		\$	123.20
SFD	GGM8000 Gateway GCP8000 Site Controller	T7577A T7038	1		\$ \$	243.20 86.40
SFD	SDM 3000 AUX I-O	F4543	1		\$	86.40
SFD	SITE AND HUB ROUTER	T8492	3		\$	123.20
SFD	APX7500 Consolette	L30SSS9PW1N	1		\$	81.00
SPD	L Core	T8259A	1		\$	1,792.80
SPD	MCC7500E DISPATCH POSITION	HP Z2 MINI	8		\$	2,828.00
SPD	Z440 WORKSTATION-AIS	HP Z440	1		\$	162.00
SPD	Z440 WORKSTATION-CAM	HP Z440	1		\$	162.00
SPD	Z440 WORKSTATION	HP Z440	3		\$	462.00
SPD	24-PORT SWITCH	CLN1868	5		\$	203.20
SPD	48-PORT SWITCH	CLN1869	2		\$	166.40
SPD	SITE AND HUB ROUTER	T8492	5		\$	203.20
SPD SPD	GCP8000 Site Controller GGM8000 Gateway	T7038 T7577A	1 3		\$	86.40 123.20
SPD	GGM8000 Gateway	TYN4001B	1		\$	43.20
SPD	Motorola VPM	B1933	1		\$	43.20
SPD	Motorola VPM - FRU	B1934	1		\$	43.20
SPD	APX7500 Consolette	L37TSS9PW1 N	1		\$	81.00
SPD	Site Manager AUX-IO	F4543	1		\$	86.40
SPD	Site Manager AUX-IO	F4547	1		\$	86.40
	Adtran Tracer	1280005L2	3		\$	180.00
	Adtran Tracer 2603	1280003L2	4		\$	240.00
	Adtran Tracer	1202076L2	1		\$	60.00
	Adtran Tracer 3200	1280580L1	2		\$	120.00
	Harris Microwave	201-901360-109 201-902505-501	4		\$ \$	440.00
	Harris Truepoint Microwave Voting RX	C04RTB3108	3		\$	440.00 120.00
	Dual E & M Plug	Dual E & M Plug	6		\$	24.00
	Aviat Microwave	IRU600	4		\$	440.00
	XTL5000	L20SSS9PW1AN	2		\$	100.00
	XTL5000 Control Station	M20QSS9PW1AN	2		\$	50.00
	APX4500 Alerting Base	M22QSS9PW1AN	12		\$	480.00
	Voting RX	Q2207A	4		\$	280.00
	Comparator	Q2980A	3		\$	210.00
		L1475A	1		\$	5.00
		L3166A	1		\$	5.00
		T1786B	1		\$	70.00
		T5365A T5589A	19 64		4	1,900.00 2,432.00
		T5600B	1		ф Ф	3.00
		T5770A	11		\$	770.00
	B 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	T5731A	1		\$	38.00
		T5795	1		\$	10.00
		TLN3251A	2		\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	18.00
	VHF Exciter PA	TLN3253A	1		\$	9.00
		TLN3254A	1		\$	9.00
		TLN3306A	1		\$	9.00
		TLN3313A	1		\$	9.00
	- 10 (10 (10 (10 (10 (10 (10 (10 (10 (10	TLN3314A	1		\$	9.00
		TLN3375A TLN3446A	1 1		\$	9.00 9.00
	OH EXCITED FA	LUNGTTUM	1		Φ	9.00

City of Stockton Maintenance Quote Delta Warranty Plus

APX4500	M22QSS9PW1AN	38		\$ 608.00
APX4500/SFS Warranty	M22QSS9PW1AN	52 \$	16.00	\$ 728.00
APX6500	M25QSS9PW1AN	362		\$ 5,792.00
APX6500/SFS Warranty	M25QSS9PW1AN	10 \$	16.00	\$ 160.00
APX7500	M30QSS9PW1AN	7		\$ 112.00
APX7500	M30TDS9PW1AN	1		\$ 16.00
APX7500	M30TXS9PW1AN	67		\$ 1,072.00
APX8500	M37TSS9PW1AN	7		\$ 112.00
APX8500/SFS Warranty	M37TSS9PW1AN	11 \$	-	\$ 176.00
APX8500/SFS Warranty	M37TSS9PW1AN	1 \$	16.00	\$ 14.00
XTS4000	H51QDF9PW6AN	99		\$ 1,386.00
APX8000	H91TGD9PW7AN	108		\$ 1,512.00
APX8000/SFS Warranty	H91TGD9PW7AN	6 \$	14.00	\$ 84.00
APX7000	H97TGD9PW1AN	33		\$ 462.00
APX6000	H98QDD9PW5AN	674		\$ 9,436.00
APX6000/SFS Warranty	H98QDD9PW5BN	7		\$ 98.00



Service Agreement Renewal

WIRELESS, INC

1700 W. Fremont St. Stockton Ca; 95203 (209) 948-9611 fax (209) 948-0103

Customer: Stockton Fire - Adtran

Attention: Terrell Harper

Address: 425 N. El Dorado

City: Stockton

Phone:

E-Mail:

209-937-8254

Terrell.Harper@stocktongov.com

Fax:

Service Agreement No:

Agreement Date:

Date Maintenance Begins:

Date Maintenance Ends:

Payment Period:

Customer PO#:

Negotiated by: Debra Thompson

Monthly Fees

S01990088

1/30/2023

7/1/2023

6/30/2024

Monthly

Quantity	Equipment	Descriptions	Place of Service		Per Unit	Extended
3		56/64 plug in module	Stockton Fire		\$4.00	\$12.00
3		Dual 56/64 plug in modul	Stockton Fire		\$4.00	\$12.00
91		E & M Cards	Stockton Fire		\$4.00	\$364.00
8	Adtran	E& M Cards	PD Data/Voting		\$3.75	\$30.00
21	Adtran	TSU600E / 600	Co #13		\$13.00	\$273.00
23	Adtran	TSU100 / 100E	Stockton Fire		\$13.00	\$299.00
4	Adtran	v.35 data cards	Stockton Fire		\$4.00	\$16.00
11	Adtran	voice cards	Stockton Fire		\$4.00	\$44.00
8	Atlas 550	Atlas 550 Base			\$60.00	\$480.00
24	E&M Cards	E& M Cards	SPD-Crth		\$4.00	\$96.00
24	E&M Cards	E& M Cards	SFD-SPD		\$4.00	\$96.00
22	Octal E&M Module	Atlas 550 Octal			\$4.00	\$88.00
2	Octal FXS Module	Atlas 550 FXS			\$4.00	\$8.00
8	Quad	FXS Card	Stockton Fire		\$4.00	\$32.00
				Total:		\$1,850.00
				Total from page 2	:	\$872.00

Zip: 95202

TOTAL: \$2,722.00

When this agreement is accepted by Delta Wireless Inc., the equipment on the customer/agreement order referenced above will be serviced by Delta Wireless in accordance with the Terms and Conditions printed on the reverse side. This agreement does not include replacement of antennas or batteries or service of any transmission line, antenna, tower, or tower lighting unless such work is described below.

State: CA

Special Instructions

*Contract	10 00000	المامات ما المحاد	n 30-day written	natification	hu aitabr nartu
Contract	is cance	nable with	1 50-day whiteh	HOURICALION	by eitem party.



WIRELESS, INC

Quantity	Equipment	Descriptions	Place of	Service	Per Unit	Extended
4	Quintron	Shelves/Power Supply			\$5.00	\$20.00
6	Quintron	T1 Switches			\$11.50	\$69.00
2	WAN	Interface Cables	Co# 13		\$11.50	\$23.00
14	Zetron	Model 6 / Decoder	Stockton Fire		\$40.00	\$560.00
5	Zetron	Model 25 / Encoder	Stockton Fire		\$40.00	\$200.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
				Γotal:		\$872.00



Service Agreement Renewal

1700 W. Fremont St. Stockton Ca; 95203

(209) 948-9611 fax (209) 948-0103

Customer: Stockton Fire - David Clark Service Agreement No: S0411147

Attention: Terrell Harper Agreement Date: 1/30/2023
Address: 425 N. El Dorado Street Date Maintenance Begins: 7/1/2023

City: Stockton State: CA Zip: 95202 Date Maintenance Ends: 6/30/2024

Phone: 209-937-8254 Fax: Payment Period: Monthly E-Mail: Terrell.Harper@stocktongov.com Customer PO#:

Negotiated by: Debra Thompson

Monthly Fees

Quantity	Equipment	Descriptions	Place of Service	Per Unit	Extended
1	David Clark	David Clark System		\$850.00	\$850.00
		A STATE OF THE STA			
				_ '-	

TOTAL: \$850.00

When this agreement is accepted by Delta Wireless Inc., the equipment on the customer/agreement order referenced above will be serviced by Delta Wireless in accordance with the Terms and Conditions printed on the reverse side. This agreement does not include replacement of antennas or batteries or service of any transmission line, antenna, tower, or tower lighting unless such work is described below.

Special Instructions

David Clark intercom system only, see Terms and Conditions of Contract.

*Contract is cancelable with 30-day written notification by either party.